T=-F
-T=F
pANT=p
pVFEF=0p
pVT=T
pANF=F
pVpP=p
PADP=D
—(-p)=p
pVg=qVp
PANG=qAp
(pvg)Vr=pV(gVr)
(pA@ Ar=pA(gAT)
pV@AT)=(@VgA(PVr)
pA(@Vr)=(@AgV(pAT)
~(pANq)=-pV—q
~(pVaq)=-pA—g
pV(pAg=p
pA(PVg=p
pV-p=T
pA-p=F
p—q=-pVyq
p—q=-q— P
pVg=-p—gq
PAG=-(p— q)
—(p—q) =pAN—q

p—=a)AN(p—=r)=p—(qgAT)
(p—=r)AN(@—r)=(Vg —r
P—=q@VpP—r)=p—(qVr)
(p—r)V(g—r)=(Aqg) —r

p—=q=({@—q N(q—p)
peqg=@AqV(-pA-q)
“(pe=q)=p— q
-3z P(zr) = Vz—-P(x)
—VzP(z) = Jz-P(x)

p
pP—q
o.q

-q
p—q

SLTp

pP—4q
q—T

LpoT

pVyq pVyq
-p -q

S.pVq S.qNVp
PANgq PANq

p—q

pVyq
-pVvVr

c.qVr

a¢ A=—(a€ A
{z|zecA}=A
Pla)=a€{z | Px)}
(A=B)=Vz(rc€ A—xz€B)
(ACB)=Vz(xr € A—x € B)
(ACB) = Vz(z€e A—z€B)A
Jx(zx e BAx ¢ A)

0 C S, para todo S
0={x|F}
rech=F

S C S, para todo S

(AxD)=0OxA) =0

AUB={z|z€ AV z€ B}

(xe AV zeB) = (zxe (AUB))
ANB={z| (x € A)A(x € B)}
(xreA N2zxeB) = (zxe(ANDB))
|AUB|=|A|+|B|—-|AnB
A-B={x|z€A N z¢ B}
(zxeAANzé¢B) = (xre(A—B))

A={z|z ¢ A}
(r ¢ A) = (v €A
Audh=A
ANU=A4
AU =U
ANp=10
AUA=A
ANA=A
@) = A
AUB=BUA
ANB=BnNA

AU(BUC)=(AuB)UC
ANn(BNC)=(AnB)NC
AN(BUC)=(ANB)U(ANC)
AU(BNC)=(AUuB)N(AUC)
= B
B




